
Junior Cycle 2024 - Engineering Project                                            
Common Level                                                                                  1              
 
 

Coimisiún na Scrúduithe Stáit 
State Examinations Commission 

Junior Cycle Examination 2024 
 Engineering 
 Project Coursework  Common Level 
 To be completed by Friday 19th April 2024 

 

 

210 marks 
 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  
 

 

 

 

 

 

 

 

 

 

 

            
       

 

 

     

2024. S59A 



Junior Cycle 2024 - Engineering Project                                            
Common Level                                                                                  2              
 
 

Instructions to candidates 

 

1. The project coursework for Junior Cycle Engineering consists of the: 
• manufacture of a Model Gullwing Vehicle – 210 marks. 

 
2. Please familiarise yourself with the adjusted assessment arrangements for 

candidates taking the state examinations in the 2023/24 school year, that were 
issued by the Department of Education. As a result of these adjustments the 'Design 
Element' of this coursework, consisting of a Design Brief, Design Folio and Design 
Realisation, is not examinable and will not have marks allocated to it in 2024. 
Therefore, candidates are not required to complete this element of the coursework. 
 

3. As a result of these changes, the total mark allocation for this coursework in 2024 is 
210 marks, instead of the usual 280 mark total. However, the relative weighting 
between the coursework (70%) and the written paper (30%) will be retained. This will 
be achieved by reweighting the coursework mark before it is combined with the mark 
for the written component. 
 

4. An outline marking scheme is shown on page 8. 
 

5. Details of the Model Gullwing Vehicle are shown on the accompanying drawings, 
pages 4 – 6. 
 

6. Make and assemble the Model using the materials specified in the Parts List (page 7). 
 

7. Note: Please ensure the Motor Adaptor (Part 16 and Part 39) are secured to the shaft of 
the 3V Motorised Gearbox (Part 40 and Part 41), using the grub screws provided. 
 

8. The Battery Holder (Part 44) is to be bonded to the inside of the Rear Panel (Part 5). 
 

9. Complete, test and solder the Electric Circuit. 
 

10. Your Examination Number must be clearly shown, on the model, in the position 
indicated on the drawing (page 4). 
 

11. Your completed coursework must be available for assessment by Friday 19th April 2024. 
 

12. Note: So as to authenticate your own individual work, where specialist processes (e.g. 
CAD/CAM) are used, these must be supported by the inclusion of drawings and/or 
descriptions as appropriate. 
 

13. For further information on this project please see the video at the URL shown below. 
https://www.examinations.ie/video/index.php/JCEngineering2024 
 
 

 



Junior Cycle 2024 - Engineering Project                                            
Common Level                                                                                  3              
 
 

  Instructions to candidates 

Acceptance and Authentication of Coursework: (See circular S76/22) 
1. The coursework you submit for assessment must be your own individual work and must be 

completed in school under the supervision of your teacher. 
 
2. Your model must not be removed from the school under any circumstances, as doing so may 

result in the coursework being considered invalid and no marks will be awarded. 
 
3. So as to authenticate your own individual work, where specialist processes (e.g. CAD/CAM) 

are used, these must be supported by the inclusion of drawings and/or descriptions as 
appropriate. 

 
4. You must reference and acknowledge all research sources used such as: publications including 

books, professional journals and government reports; online sources and other types of 
media; any material generated using artificial intelligence (AI) software or applications; and 
material from specialist organisations and relevant individuals. To include such material 
without properly referencing the source will be considered plagiarism. In addition, the copying 
from, or reproduction of, material from such sources may also be considered plagiarism. 

 
5. Any case of suspected copying, plagiarism (which includes the use of AI software), improper 

assistance, or procurement of work prepared by another party will be thoroughly 
investigated.  

 
6. Note: It is your responsibility, as the candidate, to comply with these instructions. If you fail to 

comply with these instructions, your teacher will not be able to validate and sign off on your 
coursework and you will not receive any marks for it. 

 
Note: 
• The circumstances in which the Minister for Education may withhold marks from candidates are set out 

in the “Rules and Programme for Secondary Schools”. 
• Anyone who helps a candidate to break examination rules can be prosecuted under the Education Act 

1998. 
 
Storage of Coursework 
On completion of the coursework, school authorities should ensure that the finished Model is kept 
in a secure place until the examining process (including appeals) has concluded. 
 

Note to Teachers 

* Parts 2, 5, 7, 8, 10 and 11 

• These parts may be finished using vinyl-wrap, polished or painted.  

** Part 37 – Seat, and Part 38 – Worm and worm gears 

• Schools may choose to 3D print these components or make alternative arrangements to 
source these components. 

• The STL Files for 3D printing these components are available to download on the SEC 
website at the URL shown below. 

 https://www.examinations.ie/video/index.php/JCEngineering2024 
 





Junior Cycle 2024 - Engineering Project                                            
Common Level                                                                                  6              
 
 

 

 
 
 
 
 
 

Model Gullwing Vehicle – Assembly Drawing 

1 

2 

3 

4 

5 

6 

37 

8 

9 

10 

11 

12 

13 

14 

17 

18 

19 

16 

15 

20 

Wiring Layout 

25 

41 

40 

41 

14 

7 

38 



Junior Cycle 2024 - Engineering Project                                            
Common Level                                                                                  7              
 
 

 

PARTS LIST 
Part No. Part Name Required Material and Description 

1 Front Axle Support 1 1.5 mm, Brass (polished) 
2 Dash Panel 1 1.5 mm, Aluminium * (See note page 3) 
3 Chassis 1 3 mm, Tinted Acrylic (polished) 
4 Drive Motor Holder 1 40 × 20 × 3 mm, Angle Aluminium (Polished) 
5 Rear Panel 1 1.5 mm, Aluminium * (See note page 3) 
6 Steering Wheel 1 Ø25 mm, Aluminium (polished) 
7 Left Door 1 1.5 mm, Aluminium * (See note page 3) 
8 Right Door 1 1.5 mm, Aluminium * (See note page 3) 
9 Side Panel Support Bracket 4 25 × 15 × 2 mm, Aluminium Angle (polished) 

10 Right Side Panel 1 1.5 mm, Aluminium * (See note page 3) 
11 Left Side Panel 1 1.5 mm, Aluminium * (See note page 3) 
12 Boot Cover Support 2 12 mm, Hexagonal Aluminium or Brass (polished) 
13 Rear Axle Bushing 2 M6 × 10, Mild Steel Gutter Bolt 
14 Door Motor Bracket 1 60 × 60 × 3 mm, Aluminium Angle (polished) 
15 Door Bushing Support 2 M8 Threaded Bar 
16 Drive Motor Adaptor 2 Ø12 × 12 mm, with M4 Hole and Grub Screws 
17 Bonnet Strip 1 1.5 mm, Aluminium or Brass (polished) 
18 Bonnet 1 3 mm, Coloured Acrylic (polished) 
19 Bonnet Support 1 12 mm, Clear Acrylic (polished) 
20 Boot Cover 1 3 mm, Coloured Acrylic (polished) 

As Supplied 
21 Nut 22 M3, Steel 
22 Nut 12 M4, Steel 
23 Nut 2 M6, Steel 
24 Half Nut 4 M8, Brass or Steel 
25 Locknut 5 M4, Steel 
26 Cap Nut (Rear Wheels) 2 M4, Steel 
27 Screw  8 M4 × 10, Allen Button Head or Pan Head, Steel 
28 Screw (Front Axle) 2 M4 × 35, Allen Button Head or Pan Head, Steel 
29 Screw (Doors) 2 M4 × 30, Allen Button Head or Pan Head, Steel 
30 Screw (Steering Wheel) 1 M4 × 20, Allen Button Head or Pan Head, Steel 
31 Screw 16 M3 × 8, Allen Button Head or Pan Head, Steel 
32 Screw (Door Motor) 2 M3 × 30, Allen Button Head or Pan Head, Steel 
33 Screw (Drive Motor) 2 M3 × 25, Allen Button Head or Pan Head, Steel 
34 Screw (Boot Cover/Worm) 3 M3 × 20, Allen Button Head or Pan Head, Steel 
35 Washers (Drive Motor) 2 M3 Flat Washer, Steel 
36 M4 Threaded Bar 2 Rear Axle, 69 mm 
37 Seat 1 3D Printed ** (See note page 3) 
38 Worm and Worm Gears 1 Set 3D Printed ** (See note page 3) 
39 Motor Adaptor (Door) 1 Ø12 × 12 mm, with M3 Hole and Grub Screws 
40 3V Motorised Gearbox (Drive) 1 Inline Motor, Dual Shaft – Ratio 120:1 
41 3V Motorised Gearbox (Door) 1 Inline Motor, Single Shaft – Ratio 200:1 
42 Switch 1 DPDT Spring Loaded Toggle – Centre Off 
43 Switch 1 SPST Toggle 
44 Battery Holder 1 2 × AA 
45 Wheel 4 Ø70 × 27 mm, with 4mm Axle Hole 



Junior Cycle 2024 - Engineering Project                                            
Common Level                                                                                  8              
 
 

The table below gives an outline of the marking headings that will be used to assess your completed 
coursework. While the general headings and marks below will largely remain the same, mark 
allocations may vary depending on the actual project and ‘Design Element’ for any given year. 

 

 
 

Model Gullwing Vehicle – Outline Marking Scheme 
Section 1: Complete Model 
Headings Marks 

Assembly 20 
Finish 20 
Mechanical Function 15 
Electrical Function 15 

Section 1 - Total 70 
Section 2: ‘Design Element’ (Not required for 2024 – See page 2) 

Section 2 – Total -  
Section 3: Manufacture 
Headings Marks 

Parts 1 & 5 10 
Parts 2 & 6 10 
Part 3 10 
Parts 4, 13 & 16 15 
Parts 7 & 8 15 
Parts 14 & 15 10 

Section 3 - Total 70 
Section 4: Manufacture 
Headings Marks 

Parts 10 & 11 20 
Parts 9 & 12 15 
Parts 17 & 18 15 
Part 19 10 
Part 20 10 

Section 4 - Total 70 
Overall Total in 2024 210 

Outline Marking Scheme 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles false
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /AgencyFB-Bold
    /AgencyFB-Reg
    /Aharoni-Bold
    /Algerian
    /Amienne
    /Amienne-Bold
    /Andalus
    /AngsanaNew
    /AngsanaNew-Bold
    /AngsanaNew-BoldItalic
    /AngsanaNew-Italic
    /AngsanaUPC
    /AngsanaUPC-Bold
    /AngsanaUPC-BoldItalic
    /AngsanaUPC-Italic
    /Aparajita
    /Aparajita-Bold
    /Aparajita-BoldItalic
    /Aparajita-Italic
    /ArabicTypesetting
    /Arial-Black
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /ArialNarrow
    /ArialNarrow-Bold
    /ArialNarrow-BoldItalic
    /ArialNarrow-Italic
    /ArialRoundedMTBold
    /ArialUnicodeMS
    /Arnprior
    /Bahnschrift
    /BaskOldFace
    /Batang
    /BatangChe
    /Bauhaus93
    /Baveuse
    /BellMT
    /BellMTBold
    /BellMTItalic
    /BerlinSansFB-Bold
    /BerlinSansFBDemi-Bold
    /BerlinSansFB-Reg
    /BernardMT-Condensed
    /Berylium
    /Berylium-BoldItalic
    /Biondi
    /Biondi-Light
    /BlackadderITC-Regular
    /BlueHighway
    /BlueHighway-Bold
    /BlueHighwayCondensed
    /BlueHighwayDType
    /BlueHighwayLinocut
    /BodoniMT
    /BodoniMTBlack
    /BodoniMTBlack-Italic
    /BodoniMT-Bold
    /BodoniMT-BoldItalic
    /BodoniMTCondensed
    /BodoniMTCondensed-Bold
    /BodoniMTCondensed-BoldItalic
    /BodoniMTCondensed-Italic
    /BodoniMT-Italic
    /BodoniMTPosterCompressed
    /BookAntiqua
    /BookAntiqua-Bold
    /BookAntiqua-BoldItalic
    /BookAntiqua-Italic
    /BookmanOldStyle
    /BookmanOldStyle-Bold
    /BookmanOldStyle-BoldItalic
    /BookmanOldStyle-Italic
    /BookshelfSymbolSeven
    /Boopee
    /Boopee-Bold
    /BradleyHandITC
    /BritannicBold
    /Broadway
    /BrowalliaNew
    /BrowalliaNew-Bold
    /BrowalliaNew-BoldItalic
    /BrowalliaNew-Italic
    /BrowalliaUPC
    /BrowalliaUPC-Bold
    /BrowalliaUPC-BoldItalic
    /BrowalliaUPC-Italic
    /BrushScriptMT
    /BurnstownDam
    /Byington
    /Byington-Bold
    /Byington-Italic
    /Calibri
    /Calibri-Bold
    /Calibri-BoldItalic
    /Calibri-Italic
    /Calibri-Light
    /Calibri-LightItalic
    /CalifornianFB-Bold
    /CalifornianFB-Italic
    /CalifornianFB-Reg
    /CalisMTBol
    /CalistoMT
    /CalistoMT-BoldItalic
    /CalistoMT-Italic
    /Cambria
    /Cambria-Bold
    /Cambria-BoldItalic
    /Cambria-Italic
    /CambriaMath
    /Candara
    /Candara-Bold
    /Candara-BoldItalic
    /Candara-Italic
    /Candara-Light
    /Candara-LightItalic
    /CarbonBlock
    /Castellar
    /Catriel
    /Catriel-Bold
    /Catriel-BoldItalic
    /Catriel-Italic
    /Centaur
    /Century
    /CenturyGothic
    /CenturyGothic-Bold
    /CenturyGothic-BoldItalic
    /CenturyGothic-Italic
    /CenturySchoolbook
    /CenturySchoolbook-Bold
    /CenturySchoolbook-BoldItalic
    /CenturySchoolbook-Italic
    /Chiller-Regular
    /ColonnaMT
    /ComicSansMS
    /ComicSansMS-Bold
    /ComicSansMS-BoldItalic
    /ComicSansMS-Italic
    /Consolas
    /Consolas-Bold
    /Consolas-BoldItalic
    /Consolas-Italic
    /Constantia
    /Constantia-Bold
    /Constantia-BoldItalic
    /Constantia-Italic
    /CooperBlack
    /CopperplateGothic-Bold
    /CopperplateGothic-Light
    /Corbel
    /Corbel-Bold
    /Corbel-BoldItalic
    /Corbel-Italic
    /CorbelLight
    /CorbelLight-Italic
    /CordiaNew
    /CordiaNew-Bold
    /CordiaNew-BoldItalic
    /CordiaNew-Italic
    /CordiaUPC
    /CordiaUPC-Bold
    /CordiaUPC-BoldItalic
    /CordiaUPC-Italic
    /CourierNewPS-BoldItalicMT
    /CourierNewPS-BoldMT
    /CourierNewPS-ItalicMT
    /CourierNewPSMT
    /CreditValley
    /CreditValley-Bold
    /CreditValley-BoldItalic
    /CreditValley-Italic
    /CurlzMT
    /DaunPenh
    /David
    /David-Bold
    /DFKaiShu-SB-Estd-BF
    /DilleniaUPC
    /DilleniaUPCBold
    /DilleniaUPCBoldItalic
    /DilleniaUPCItalic
    /DokChampa
    /Dotum
    /DotumChe
    /Dubai-Bold
    /Dubai-Light
    /Dubai-Medium
    /Dubai-Regular
    /EarwigFactory
    /Ebrima
    /Ebrima-Bold
    /EdwardianScriptITC
    /Elephant-Italic
    /Elephant-Regular
    /EngraversMT
    /ErasITC-Bold
    /ErasITC-Demi
    /ErasITC-Light
    /ErasITC-Medium
    /EstrangeloEdessa
    /EucrosiaUPC
    /EucrosiaUPCBold
    /EucrosiaUPCBoldItalic
    /EucrosiaUPCItalic
    /EuphemiaCAS
    /EuphorigenicS
    /FangSong
    /FelixTitlingMT
    /FootlightMTLight
    /ForteMT
    /FranklinGothic-Book
    /FranklinGothic-BookItalic
    /FranklinGothic-Demi
    /FranklinGothic-DemiCond
    /FranklinGothic-DemiItalic
    /FranklinGothic-Heavy
    /FranklinGothic-HeavyItalic
    /FranklinGothic-Medium
    /FranklinGothic-MediumCond
    /FranklinGothic-MediumItalic
    /FrankRuehl
    /FreesiaUPC
    /FreesiaUPCBold
    /FreesiaUPCBoldItalic
    /FreesiaUPCItalic
    /FreestyleScript-Regular
    /FrenchScriptMT
    /Gabriola
    /Gadugi
    /Gadugi-Bold
    /Garamond
    /Garamond-Bold
    /Garamond-Italic
    /Gautami
    /Gautami-Bold
    /Georgia
    /Georgia-Bold
    /Georgia-BoldItalic
    /Georgia-Italic
    /Gigi-Regular
    /GillSansMT
    /GillSansMT-Bold
    /GillSansMT-BoldItalic
    /GillSansMT-Condensed
    /GillSansMT-ExtraCondensedBold
    /GillSansMT-Italic
    /GillSans-UltraBold
    /GillSans-UltraBoldCondensed
    /Gisha
    /Gisha-Bold
    /GloucesterMT-ExtraCondensed
    /GoudyOldStyleT-Bold
    /GoudyOldStyleT-Italic
    /GoudyOldStyleT-Regular
    /GoudyStout
    /Gulim
    /GulimChe
    /Gungsuh
    /GungsuhChe
    /Haettenschweiler
    /HarlowSolid
    /Harrington
    /HeavyHeap
    /HighTowerText-Italic
    /HighTowerText-Reg
    /HoloLensMDL2Assets
    /HPSimplified-Bold
    /HPSimplified-BoldItalic
    /HPSimplifiedHans-Light
    /HPSimplifiedHans-Regular
    /HPSimplified-Italic
    /HPSimplifiedJpan-Light
    /HPSimplifiedJpan-Regular
    /HPSimplified-Light
    /HPSimplified-LightItalic
    /HPSimplified-Regular
    /HurryUp
    /Huxtable
    /Impact
    /ImprintMT-Shadow
    /InformalRoman-Regular
    /InkFree
    /IrisUPC
    /IrisUPCBold
    /IrisUPCBoldItalic
    /IrisUPCItalic
    /IskoolaPota
    /IskoolaPota-Bold
    /JasmineUPC
    /JasmineUPCBold
    /JasmineUPCBoldItalic
    /JasmineUPCItalic
    /JavaneseText
    /Jokerman-Regular
    /JuiceITC-Regular
    /KaiTi
    /Kalinga
    /Kalinga-Bold
    /Kartika
    /Kartika-Bold
    /KhmerUI
    /KhmerUI-Bold
    /KodchiangUPC
    /KodchiangUPCBold
    /KodchiangUPCBoldItalic
    /KodchiangUPCItalic
    /Kokila
    /Kokila-Bold
    /Kokila-BoldItalic
    /Kokila-Italic
    /Kredit
    /KristenITC-Regular
    /KunstlerScript
    /LaoUI
    /LaoUI-Bold
    /Latha
    /Latha-Bold
    /LatinWide
    /Leelawadee
    /LeelawadeeBold
    /Leelawadee-Bold
    /LeelawadeeUI
    /LeelawadeeUI-Bold
    /LeelawadeeUI-Semilight
    /LevenimMT
    /LevenimMT-Bold
    /Ligurino
    /Ligurino-Bold
    /LigurinoCondensed
    /Ligurino-Italic
    /LilyUPC
    /LilyUPCBold
    /LilyUPCBoldItalic
    /LilyUPCItalic
    /LucidaBright
    /LucidaBright-Demi
    /LucidaBright-DemiItalic
    /LucidaBright-Italic
    /LucidaCalligraphy-Italic
    /LucidaConsole
    /LucidaFax
    /LucidaFax-Demi
    /LucidaFax-DemiItalic
    /LucidaFax-Italic
    /LucidaHandwriting-Italic
    /LucidaSans
    /LucidaSans-Demi
    /LucidaSans-DemiItalic
    /LucidaSans-Italic
    /LucidaSans-Typewriter
    /LucidaSans-TypewriterBold
    /LucidaSans-TypewriterBoldOblique
    /LucidaSans-TypewriterOblique
    /LucidaSansUnicode
    /Magneto-Bold
    /MaiandraGD-Regular
    /MalgunGothic
    /MalgunGothicBold
    /MalgunGothicRegular
    /MalgunGothic-Semilight
    /Mangal
    /Mangal-Bold
    /Marlett
    /MaturaMTScriptCapitals
    /Meiryo
    /Meiryo-Bold
    /Meiryo-BoldItalic
    /Meiryo-Italic
    /MeiryoUI
    /MeiryoUI-Bold
    /MeiryoUI-BoldItalic
    /MeiryoUI-Italic
    /MicrosoftHimalaya
    /MicrosoftJhengHeiBold
    /MicrosoftJhengHeiLight
    /MicrosoftJhengHeiRegular
    /MicrosoftJhengHeiUIBold
    /MicrosoftJhengHeiUILight
    /MicrosoftJhengHeiUIRegular
    /MicrosoftNewTaiLue
    /MicrosoftNewTaiLue-Bold
    /MicrosoftPhagsPa
    /MicrosoftPhagsPa-Bold
    /MicrosoftSansSerif
    /MicrosoftTaiLe
    /MicrosoftTaiLe-Bold
    /MicrosoftUighur
    /MicrosoftUighur-Bold
    /MicrosoftYaHei
    /MicrosoftYaHei-Bold
    /MicrosoftYaHeiLight
    /MicrosoftYaHeiUI
    /MicrosoftYaHeiUI-Bold
    /MicrosoftYaHeiUILight
    /Microsoft-Yi-Baiti
    /MingLiU
    /MingLiU-ExtB
    /Ming-Lt-HKSCS-ExtB
    /Ming-Lt-HKSCS-UNI-H
    /MinyaNouvelle
    /MinyaNouvelleBold
    /MinyaNouvelleBoldItalic
    /MinyaNouvelleItalic
    /Miriam
    /MiriamFixed
    /Mistral
    /Modern-Regular
    /MongolianBaiti
    /MonotypeCorsiva
    /MoolBoran
    /MS-Gothic
    /MS-Mincho
    /MSOutlook
    /MS-PGothic
    /MS-PMincho
    /MSReferenceSansSerif
    /MSReferenceSpecialty
    /MS-UIGothic
    /MT-Extra
    /Mufferaw
    /MVBoli
    /MyanmarText
    /MyanmarText-Bold
    /Narkisim
    /Neuropol
    /NiagaraEngraved-Reg
    /NiagaraSolid-Reg
    /NirmalaUI
    /NirmalaUI-Bold
    /NirmalaUI-Semilight
    /NSimSun
    /Nyala-Regular
    /OCRAExtended
    /OldEnglishTextMT
    /Onyx
    /PalaceScriptMT
    /PalatinoLinotype-Bold
    /PalatinoLinotype-BoldItalic
    /PalatinoLinotype-Italic
    /PalatinoLinotype-Roman
    /Papyrus-Regular
    /Parchment-Regular
    /Perpetua
    /Perpetua-Bold
    /Perpetua-BoldItalic
    /Perpetua-Italic
    /PerpetuaTitlingMT-Bold
    /PerpetuaTitlingMT-Light
    /PlanetBenson2
    /PlantagenetCherokee
    /Playbill
    /PMingLiU
    /PMingLiU-ExtB
    /PoorRichard-Regular
    /Pristina-Regular
    /Pupcat
    /Raavi
    /RageItalic
    /Ravie
    /Rockwell
    /Rockwell-Bold
    /Rockwell-BoldItalic
    /Rockwell-Condensed
    /Rockwell-CondensedBold
    /Rockwell-ExtraBold
    /Rockwell-Italic
    /Rod
    /SakkalMajalla
    /SakkalMajallaBold
    /ScriptMTBold
    /SegoeMDL2Assets
    /SegoePrint
    /SegoePrint-Bold
    /SegoeScript
    /SegoeScript-Bold
    /SegoeUI
    /SegoeUIBlack
    /SegoeUIBlack-Italic
    /SegoeUI-Bold
    /SegoeUI-BoldItalic
    /SegoeUIEmoji
    /SegoeUIHistoric
    /SegoeUI-Italic
    /SegoeUI-Light
    /SegoeUI-LightItalic
    /SegoeUI-Semibold
    /SegoeUI-SemiBold
    /SegoeUI-SemiboldItalic
    /SegoeUI-Semilight
    /SegoeUI-SemilightItalic
    /SegoeUISymbol
    /ShonarBangla
    /ShonarBangla-Bold
    /ShowcardGothic-Reg
    /Shruti
    /Shruti-Bold
    /SimHei
    /SimplifiedArabic
    /SimplifiedArabic-Bold
    /SimplifiedArabicFixed
    /SimSun
    /SimSun-ExtB
    /SitkaBanner
    /SitkaBanner-Bold
    /SitkaBanner-BoldItalic
    /SitkaBanner-Italic
    /SitkaDisplay
    /SitkaDisplay-Bold
    /SitkaDisplay-BoldItalic
    /SitkaDisplay-Italic
    /SitkaHeading
    /SitkaHeading-Bold
    /SitkaHeading-BoldItalic
    /SitkaHeading-Italic
    /SitkaSmall
    /SitkaSmall-Bold
    /SitkaSmall-BoldItalic
    /SitkaSmall-Italic
    /SitkaSubheading
    /SitkaSubheading-Bold
    /SitkaSubheading-BoldItalic
    /SitkaSubheading-Italic
    /SitkaText
    /SitkaText-Bold
    /SitkaText-BoldItalic
    /SitkaText-Italic
    /SnapITC-Regular
    /Stencil
    /Stereofidelic
    /SybilGreen
    /Sylfaen
    /SymbolMT
    /Tahoma
    /Tahoma-Bold
    /Tandelle
    /Tandelle-Bold
    /Tandelle-BoldItalic
    /Tandelle-Italic
    /Teen
    /Teen-Bold
    /Teen-BoldItalic
    /Teen-Italic
    /TeenLight
    /TeenLight-Italic
    /TempusSansITC
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
    /TraditionalArabic
    /TraditionalArabic-Bold
    /Trebuchet-BoldItalic
    /TrebuchetMS
    /TrebuchetMS-Bold
    /TrebuchetMS-Italic
    /Tunga
    /Tunga-Bold
    /TwCenMT-Bold
    /TwCenMT-BoldItalic
    /TwCenMT-Condensed
    /TwCenMT-CondensedBold
    /TwCenMT-CondensedExtraBold
    /TwCenMT-Italic
    /TwCenMT-Regular
    /Utsaah
    /Utsaah-Bold
    /Utsaah-BoldItalic
    /Utsaah-Italic
    /Vani
    /Vani-Bold
    /VelvendaCooler
    /Verdana
    /Verdana-Bold
    /Verdana-BoldItalic
    /Verdana-Italic
    /Vijaya
    /Vijaya-Bold
    /VinerHandITC
    /Vivaldii
    /VladimirScript
    /Vrinda
    /Vrinda-Bold
    /Waker
    /Webdings
    /Wingdings2
    /Wingdings3
    /Wingdings-Regular
    /YuGothic-Bold
    /YuGothic-Light
    /YuGothic-Medium
    /YuGothic-Regular
    /YuGothicUI-Bold
    /YuGothicUI-Light
    /YuGothicUI-Regular
    /YuGothicUI-Semibold
    /YuGothicUI-Semilight
    /ZWAdobeF
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /CreateJDFFile false
  /SyntheticBoldness 1.000000
  /Description <<
    /FRA <>
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU (Stephen Austin Distiller settings file V6)
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 822.047]
>> setpagedevice




